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7 100kN/m%#8%z% | 1.00 | 000 ~ 099 114.80 |3m%xBz%| — ~ — — — | 100kN/m%#82% | 1.00 | 11.23 ~ 1428 114.80 |3m%E#BZ% — — — —
zhLst 1001099 ~ 877\ 100.00| Fhis | 000 ~ 877|238 12.76 zhLst 1.00 | 600 ~ 1123 100.00 | Thst | 6.00 14.28 | 2.88 12.76
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % — — — —
Zhst 1.00 | 0oo ~ 726 92.45 | =S | 000 ~ 0.00) 1.69 9.02 Zhst 1.00 | 5.00 ~ 9.44 92.45 | FhLs | 5.00 9.44 | 1.69 9.02
3 100kN/m##8%z% | 1.00 | 000 ~ 0.12| 101.79 |3mE#Bz%| — ~ — — — | 100kN/m%#82% | 1.00 | 1057 ~ 1090 101.79 |3m%E#BZ% — — — —
zhLst 1.00 012 ~ 791 100.00 | #nhst | 0o0o ~ 791|214 11.46 zhLst 1.00 | 500 ~ 1057 100.00 | Fhst | 6.00 10.90 | 2.14 11.46
p 100kN/mM#E#BZ5 | 1.00 | 000 ~ 004 100.59 |3mZE#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1080 ~ 1090 100.59 |3m%E#BZ% — — — —
zhLst 1.00 004 ~ 783\ 100.00| Fhs | 000 ~ 783|231 12.34 zhLst 1.00 | 6500 ~ 1080 100.00 | Fnhst | 6.00 10.90 | 2.31 12.34
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
Fhst 1.00 | 0.00 ~ 6.54 82.44 | =L | 000 ~ 654 2.056 10.97 Zhst 1.00 | 5.00 ~ 9.33 82.44 | FhLs | 5.00 9.33 | 2.05 10.97
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % — — — —
Zhst 1.00 | 0.o0 ~ 597 74.72 | Fhs | 0oo ~ 597|216 11.58 Zhst 1.00 | 5.00 ~ 9.33 74.72 | Fns | .00 9.33| 216 11.58
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
Tt 1.00 | 0.00 ~ 6.26 7869 | Ths | ooo ~ 626 1.93 10.33 FhLst 1.00 | 6.00 ~ 7.83 78.69 | TnS | 6.00 7.83 1 1.93 10.33
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
Thilst 1.00 | 000 ~ 587 7347 | #hLS | 000 ~ 587 202 10.81 st 1.00 | 6.00 ~ 7.70 73.47 | =ns | 6.00 7.70 | 202 10.81
9 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3m%E{BZ B — — — —
Ths 1.00 | 000 ~ 580 72.51 | FhS | 000 ~ 580 1.93 10.33 Ths 1.00 | 5.00 ~ 7.00 72.51 | #nst | 6.00 7.00 | 1.95 10.33
10 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
st 1.00 | 0.00 ~ 5.26 65.52 | Ths | 0oo ~ 526 1.84 9.83 st 1.00 | 6.00 ~ b6.80 65.52 | RSN | 5.00 580 | 1.84 9.83
11 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
st 1.00 | 0.00 ~ 4.77 59.50 | NS 000 ~ 477 1.74 9.29 st 1.00 | 6.00 ~ 56.00 59.50 | =nLs | 5.00 5.00 | 1.74 9.29
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100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zh s
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
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